Ratio to ATLAS

1/0 do/dg’st,
|—\
3

13000 GeV pp Z (Drell-Yan)
— I I IIIIII| I I IIIIII| I I IIIIII| I I Illll_g
5  (II) (ATLAS Z production) G
= n =
= N
- —{ N
- — Al
10 = —59;
[ _1™
1 = _ED:
107 = EH
— <
C —
- —1©
1072 £ _:§
= S
- m ATLAS 13
3| --©-- Herwig++ 2.7.1 default =
10 = Herwig++ 2.7.1 UE-EE-5 = 2
—  --3-- Herwig 7.2.1 default s
N 3
10 g EE
: I I I | | | L1 1111 | | | I I | | | L1 11 I-I_— E
— L ' L ' L ' ' """:
2 B =2
1- -1
0.5 — —0.5
Lol L Lol L Lol L Ly
107° 1072 1071 1 10



	Contents
	Page 1


